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) N 1 —¢ndy - ey — b, bf b . :
Background. de’ =¢”- bwa = oy . e’ and ajy +— eay + F(l —eay, also for k = i.
ady ady i
The differential of y = beh(e, 8): An interpretation?

_ -ad _ -ad _ —adg
5},er = (5(,;”#5@—”!3)4_(5@}(] .f ! ) 2Dv. b: bracket trace; c: cobracket trace; (b.c) = 6 € {0, 1]}.
ady ada adf | ris QIsH{Qlbi eIl ay)) (so £ = {f + flay)) modulo
old Models. I’“ [x.yf = éx. xf(y) = fy +é)x. If 67 = 0, locality, [a;j,au] = craij — cjaip. lag.ap] = bjay — biaj.
5 SO = 6f70y): i laijoapl = (cj—bjay + biajx — caij, [aij.a;] =7, and [aj;, bi] =
Ij Deriving Gassner. £" is Q[[b;]{a;;) modulo locality, [a;;, ai] = —[a,-;-,.e"),-J = —[ajj, A = laij, ;] = bai; — bic;.
0, l[aw, ap) = laij,au] = bjay — bjaj, and [a;j,a;] = bjaj; — s \bics - ' ' 5
bjajj. Acts on V = Qb;J{x; = ajee) by [a;j. x;] = 0, [a;;, x;] = aijf = (f - f —f))ﬂfj, laij, f1=|1 " = Daijs
bix; — bix;. Hence ey, = y; ¢y, = pPiy. 4 b 1 - ePx;. . b b
i) = by (= e ey = S g (= o L gy (o)
Renaming y; = x;/b;. t; = €, get [¢™9i], . = I 1= TP L ij . if
gV = Xi/bpti=e’, g i =\ g ) The primitivity condition. kcr(f + flajj—of + f”b,c‘j).
The £ Adjoint representation. ¢*“ acts by The OneCo Quotient iy’ 6c; = cjcx = 0, so Ll
by (U + flen+ (17 s flefais: f.f [, /% € QIS biT}.  Then
ay > ayy, aix = ai, agj e Vay + E(] - e My, [aij £+ fle =6 - & &) - - [T+ Haij.
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To do. e Perhaps I should find a way to highlight the fact that v is a perturbation of w.

@ If [x,y])=ix+ 2 e
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~ Hy)= Plyed) 2 +
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gt s Gl g+ 2y = Gt td) 2t 42ty
XP=( +f)53<+(wf)%?l+ bellztgr 225

ggy“‘ = @J 4>c+?ij:,dq
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So xPly)= Flyel)x +-ZJ?(H74) =0)



